
Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

MACSAE367.T.0001 TAVOLA NR. 1 - ARTICOLO КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Page 1 out of 22



Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Web Pos. Item Replace by Description

Нажмите - Ctrl + правая кнопка мыши что бы открыть запчасть в новом окне
Press - CTRL + CLICK go to item in a new window  

1 U110.004 SCREW AUT.TCB 3,5X6,5 DIN 7981F
2 11034145 WATER CONTAINER COUPLER JEEG BLK
3 11034139 REAR PANEL JEEG BLK
4 U324.003 NUT M5 FLANGED INDENTED BASE
5 11034155 SUPPORT BOILER PUMP FLOWMETERJEEG
6 U043.015 SCREW TCBC M5,0X12 UNI 7687 GALV.
7 NE16.009 GROMMET NOSTRUM 10476.1.2
9 NV01.015 FOOT D.22 H.18 M6
10 11034153 PWD CARD SUPPORT JEEG
11 U116.006 SCREW AUT.PT TCB 3,5X12 WN 1441 ZNP
12 0870.048 ASPIRATION BUSH
14 184320700 ADHESIVE CLIP 25X25 0269200096
15 U109.029 SCREW AUT.TCB 3,5X32 DIN 7981C
16 11025902 WEDGE
17 11034589 REED FOR TANK
18 264262 NOZZLE SUPPORT ASSEMBLY
19 U110.011 SCREW AUT.TCB 2,9X9,5 DIN 7981F
20 NF11.015 EXPANSION RIVET D=2,8X8 ALU.
21 264290 NOZZLE SUPPORT
22 NF11.026 EXPANSION RIVET D.3,9X8 ALU.
23 11034180 HINGE FOR DOOR JEEG
24 U201.001 PLAIN WASHER 3,2X9 DIN 7349 GALV.
25 1813.029.050 NOZZLES PLATE
26 11008262 GRIND SUPPORT
27 264282 CONTAINER SUPPORT + MIXER ASSEMBLY
28 1602.R02 KEY FOR MERONILOCK
29 11034237 DRAWER TRUST
30 11029899 11035790 SB/SS DRIP TRAY GRATE RYL/T
31 17000991 RED FLOAT V2 FOR DRIP TRAY RYL
32 11031093 TXO/BLK DRIP TRAY RYL ASSY.
33 11034356 HARNESS FAN 24VDC JEEG
34 11034333 SPIRAL TUBE D.25 L=470 MM
35 NV02.249 LOCK MERONI 3351B21 X DISTRIB.
36 11034242 LEVER FOR LOCK
37 U208.006 TOOTHED WASHER 6,4X11 UNI 3703
38 U302.004 NUT HEXAGONAL M6 UNI 5588

Page 2 out of 22

''
https://uavending-ricambi.com/shopsearch?searchword=U110.004
https://uavending-ricambi.com/shopsearch?searchword=11034145
https://uavending-ricambi.com/shopsearch?searchword=11034139
https://uavending-ricambi.com/shopsearch?searchword=U324.003
https://uavending-ricambi.com/shopsearch?searchword=11034155
https://uavending-ricambi.com/shopsearch?searchword=U043.015
https://uavending-ricambi.com/shopsearch?searchword=NE16.009
https://uavending-ricambi.com/shopsearch?searchword=NV01.015
https://uavending-ricambi.com/shopsearch?searchword=11034153
https://uavending-ricambi.com/shopsearch?searchword=U116.006
https://uavending-ricambi.com/shopsearch?searchword=0870.048
https://uavending-ricambi.com/shopsearch?searchword=184320700
https://uavending-ricambi.com/shopsearch?searchword=U109.029
https://uavending-ricambi.com/shopsearch?searchword=11025902
https://uavending-ricambi.com/shopsearch?searchword=11034589
https://uavending-ricambi.com/shopsearch?searchword=264262
https://uavending-ricambi.com/shopsearch?searchword=U110.011
https://uavending-ricambi.com/shopsearch?searchword=NF11.015
https://uavending-ricambi.com/shopsearch?searchword=264290
https://uavending-ricambi.com/shopsearch?searchword=NF11.026
https://uavending-ricambi.com/shopsearch?searchword=11034180
https://uavending-ricambi.com/shopsearch?searchword=U201.001
https://uavending-ricambi.com/shopsearch?searchword=1813.029.050
https://uavending-ricambi.com/shopsearch?searchword=11008262
https://uavending-ricambi.com/shopsearch?searchword=264282
https://uavending-ricambi.com/shopsearch?searchword=1602.R02
https://uavending-ricambi.com/shopsearch?searchword=11034237
https://uavending-ricambi.com/shopsearch?searchword=11029899
https://uavending-ricambi.com/shopsearch?searchword=17000991
https://uavending-ricambi.com/shopsearch?searchword=11031093
https://uavending-ricambi.com/shopsearch?searchword=11034356
https://uavending-ricambi.com/shopsearch?searchword=11034333
https://uavending-ricambi.com/shopsearch?searchword=NV02.249
https://uavending-ricambi.com/shopsearch?searchword=11034242
https://uavending-ricambi.com/shopsearch?searchword=U208.006
https://uavending-ricambi.com/shopsearch?searchword=U302.004


Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

MACSAE367.T.0002 TAVOLA NR. 2 - ARTICOLO КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Web Pos. Item Replace by Description

Page 3 out of 22



Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Нажмите - Ctrl + правая кнопка мыши что бы открыть запчасть в новом окне
Press - CTRL + CLICK go to item in a new window  

1 11034278 SUPPORT PLATE X SENSOR WATER BLK
2 11010917 BLACK WATER LEVEL SENSOR SUPPORT LAV.V2
3 U110.004 SCREW AUT.TCB 3,5X6,5 DIN 7981F
4 0701.031.150 GREY WATER VALVE GACO DIM 14 SEAL COVER
5 145842900 NBR WATER CONT.VALVE GACO DIM14 SEAL
6 0701.014.150 GREY WATER VALVE GACO DIM 14 SEAL CONT.
7 140320461 OR ORM 0080-20 TERMOIL
8 11003232 AS.CPU+SW WATER LEVEL SENSOR V2
9 224640200 WHITE WATER CONTAINER EXT.FILTER ASSY.
10 140324362 OR ORM 0060-30 SILICONE
11 126764718 SS WATER CONTAINER VALVE SPRING
12 147660562 421941089692 GREY PISTON FOR WATER CONTAINER VALVE
13 11012190 NAT/GREY WATER CONTAIN.V2 LAV.V2 TO ASSY
14 11034332 11034331 BLK WATER CONTAINER LID LAV.
15 421941306371 SS PLATE FOR WATER CONT.LID LOCK V2 LAV.
16 146581150 BLACK WATER CONTAINER HANDLE LAV.
17 129532521 SCREW TSP2,9X9,5 DIN 7982 SS
18 12001902 LOCK MERONI 337
19 11012191 83A027600 NAT/GREY WATER CONTAINER V2 LAV.V2 ASSY.
20 11008835 COFFEE TANK ASSEMBLY 5P07
21 11034165 FIXING PLATE EXHAUST JEEG
22 11034259 EXHAUST MANIFOLD JEEG
23 U324.005 NUT M3 FLANGED INDENTED BASE
24 NE05.018 MICROSWITCH
25 11034163 SUPPORT RATIOMOTOR JEEG
26 11006046 PEG FOR BOILER
27 11007015 5P07 COFFEE CONTAINER COVER
28 11007014 COFFEE CONTAINER 5P07
29 11010736 ASS.GUILLOTINE COFFEE

Page 4 out of 22

''
https://uavending-ricambi.com/shopsearch?searchword=11034278
https://uavending-ricambi.com/shopsearch?searchword=11010917
https://uavending-ricambi.com/shopsearch?searchword=U110.004
https://uavending-ricambi.com/shopsearch?searchword=0701.031.150
https://uavending-ricambi.com/shopsearch?searchword=145842900
https://uavending-ricambi.com/shopsearch?searchword=0701.014.150
https://uavending-ricambi.com/shopsearch?searchword=140320461
https://uavending-ricambi.com/shopsearch?searchword=11003232
https://uavending-ricambi.com/shopsearch?searchword=224640200
https://uavending-ricambi.com/shopsearch?searchword=140324362
https://uavending-ricambi.com/shopsearch?searchword=126764718
https://uavending-ricambi.com/shopsearch?searchword=147660562
https://uavending-ricambi.com/shopsearch?searchword=11012190
https://uavending-ricambi.com/shopsearch?searchword=11034332
https://uavending-ricambi.com/shopsearch?searchword=421941306371
https://uavending-ricambi.com/shopsearch?searchword=146581150
https://uavending-ricambi.com/shopsearch?searchword=129532521
https://uavending-ricambi.com/shopsearch?searchword=12001902
https://uavending-ricambi.com/shopsearch?searchword=11012191
https://uavending-ricambi.com/shopsearch?searchword=11008835
https://uavending-ricambi.com/shopsearch?searchword=11034165
https://uavending-ricambi.com/shopsearch?searchword=11034259
https://uavending-ricambi.com/shopsearch?searchword=U324.005
https://uavending-ricambi.com/shopsearch?searchword=NE05.018
https://uavending-ricambi.com/shopsearch?searchword=11034163
https://uavending-ricambi.com/shopsearch?searchword=11006046
https://uavending-ricambi.com/shopsearch?searchword=11007015
https://uavending-ricambi.com/shopsearch?searchword=11007014
https://uavending-ricambi.com/shopsearch?searchword=11010736


Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

MACSAE367.T.0003 TAVOLA NR. 3 - ARTICOLO КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Web Pos. Item Replace by Description

Page 5 out of 22



Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Нажмите - Ctrl + правая кнопка мыши что бы открыть запчасть в новом окне
Press - CTRL + CLICK go to item in a new window  

1 1602.147 BUSH FOR DOOR CONNECTING ROD
2 U324.006 NUT M4 FLANGED INDENTED BASE
3 264289 ROOF WITH HINGE
4 11025902 WEDGE
5 11028411 KEY
6 NE05.039 NE05.061 BIPOLAR MICROSWITCH
7 264274 DOOR PROTECTION CARTER
8 U116.006 SCREW AUT.PT TCB 3,5X12 WN 1441 ZNP
9 264268 IPERAUTOMATICA FRONT DOOR
10 U110.011 SCREW AUT.TCB 2,9X9,5 DIN 7981F
11 11033447 BUSH LEVER ROOF
12 264272 LABEL PLATE
13 264270 IPERAUTOMATICA  ADHESIVE PRODUCT KEYBOARD
14 264177 LABEL SHEET PRODUCTS KEYS ITA
14 264178 LABEL SHEET PRODUCTS KEYS ENG
14 264179 LABEL SHEET PRODUCTS KEYS DE
14 264180 LABEL SHEET PRODUCTS KEYS FRA
14 264181 LABEL SHEET PRODUCTS KEYS NL
14 264182 LABEL SHEET PRODUCTS KEYS POR
14 264183 LABEL SHEET PRODUCTS KEYS RU
14 264184 LABEL SHEET PRODUCTS KEYS RU
14 264185 ADDITIONAL SHEET LABEL SHEET PRODUCTS KEYS

Page 6 out of 22

''
https://uavending-ricambi.com/shopsearch?searchword=1602.147
https://uavending-ricambi.com/shopsearch?searchword=U324.006
https://uavending-ricambi.com/shopsearch?searchword=264289
https://uavending-ricambi.com/shopsearch?searchword=11025902
https://uavending-ricambi.com/shopsearch?searchword=11028411
https://uavending-ricambi.com/shopsearch?searchword=NE05.039
https://uavending-ricambi.com/shopsearch?searchword=264274
https://uavending-ricambi.com/shopsearch?searchword=U116.006
https://uavending-ricambi.com/shopsearch?searchword=264268
https://uavending-ricambi.com/shopsearch?searchword=U110.011
https://uavending-ricambi.com/shopsearch?searchword=11033447
https://uavending-ricambi.com/shopsearch?searchword=264272
https://uavending-ricambi.com/shopsearch?searchword=264270
https://uavending-ricambi.com/shopsearch?searchword=264177
https://uavending-ricambi.com/shopsearch?searchword=264178
https://uavending-ricambi.com/shopsearch?searchword=264179
https://uavending-ricambi.com/shopsearch?searchword=264180
https://uavending-ricambi.com/shopsearch?searchword=264181
https://uavending-ricambi.com/shopsearch?searchword=264182
https://uavending-ricambi.com/shopsearch?searchword=264183
https://uavending-ricambi.com/shopsearch?searchword=264184
https://uavending-ricambi.com/shopsearch?searchword=264185


Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

MACSAE367.T.0004 TAVOLA NR. 4 - ARTICOLO КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Web Pos. Item Replace by Description

Page 7 out of 22



Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Нажмите - Ctrl + правая кнопка мыши что бы открыть запчасть в новом окне
Press - CTRL + CLICK go to item in a new window  

1 11034275 PUMP 230V JEEG
1 11034523 PUMP 220V 60HZ JEEG
2 263761 EX5KEVO/S 230V 50HZ PUMP
2 9070.042.00N PUMP 220V
3 149185850 EATON PUMP SUPPORT 4002012 MAGIC
4 11025295 TEFLON TUBE 3X6 L.170 1/8"-1/8
5 11005590 SAFETY VALVE/NON RETURN ASS. NEW
6 9972.246 SILICONE TUBE 5X10 L.2000MM
7 U043.015 SCREW TCBC M5,0X12 UNI 7687 GALV.
8 147920150 252021 90° INLET PUMP CONNECTOR
9 11032038 11036374 FILTER INTAKE IN LUNG WATER SUPPLY
10 NV99.099 TURBINE D=1,2 ASSY.
11 9161.262.060 DRIP CHANNEL COVER
12 9111.528.050 COFFEE DISCHARGE CHANNEL
13 11034260 SYPHON FOR SOLENOID VALVE

Page 8 out of 22

''
https://uavending-ricambi.com/shopsearch?searchword=11034275
https://uavending-ricambi.com/shopsearch?searchword=11034523
https://uavending-ricambi.com/shopsearch?searchword=263761
https://uavending-ricambi.com/shopsearch?searchword=9070.042.00N
https://uavending-ricambi.com/shopsearch?searchword=149185850
https://uavending-ricambi.com/shopsearch?searchword=11025295
https://uavending-ricambi.com/shopsearch?searchword=11005590
https://uavending-ricambi.com/shopsearch?searchword=9972.246
https://uavending-ricambi.com/shopsearch?searchword=U043.015
https://uavending-ricambi.com/shopsearch?searchword=147920150
https://uavending-ricambi.com/shopsearch?searchword=11032038
https://uavending-ricambi.com/shopsearch?searchword=NV99.099
https://uavending-ricambi.com/shopsearch?searchword=9161.262.060
https://uavending-ricambi.com/shopsearch?searchword=9111.528.050
https://uavending-ricambi.com/shopsearch?searchword=11034260


Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

MACSAE367.T.0005 TAVOLA NR. 5 - ARTICOLO КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Web Pos. Item Replace by Description

Page 9 out of 22



Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Нажмите - Ctrl + правая кнопка мыши что бы открыть запчасть в новом окне
Press - CTRL + CLICK go to item in a new window  

1 U324.006 NUT M4 FLANGED INDENTED BASE
2 11033287 RATIOMOTOR 80 RPM K85 24VDC
3 264278 PIN FOR SOLUBLE MOTOR
4 264276 & - SUCTION TUBE BUSH
5 260793 MIXER PLATE
6 264286 MIXER SUCTION CHAMBER
7 264287 MIXER SUCTION CHAMBER COVER
8 251968 EXTENDABLE COVER
9 251967 FIXED COVERING
10 251963 WHEEL FOR CANISTER
11 095849 CONTAINER RING NUT
12 251962 O-RING 14
13 251811 SCROLL L=16.1CM
14 253310 POWDERS CANISTER
15 251875 COMPL. STD. METER.SCREW CONTAIN.
16 0V2072 LH POWDER FEEDER L=38
17 264260 LEFT DUST CONVEYOR

Page 10 out of 22

''
https://uavending-ricambi.com/shopsearch?searchword=U324.006
https://uavending-ricambi.com/shopsearch?searchword=11033287
https://uavending-ricambi.com/shopsearch?searchword=264278
https://uavending-ricambi.com/shopsearch?searchword=264276
https://uavending-ricambi.com/shopsearch?searchword=260793
https://uavending-ricambi.com/shopsearch?searchword=264286
https://uavending-ricambi.com/shopsearch?searchword=264287
https://uavending-ricambi.com/shopsearch?searchword=251968
https://uavending-ricambi.com/shopsearch?searchword=251967
https://uavending-ricambi.com/shopsearch?searchword=251963
https://uavending-ricambi.com/shopsearch?searchword=095849
https://uavending-ricambi.com/shopsearch?searchword=251962
https://uavending-ricambi.com/shopsearch?searchword=251811
https://uavending-ricambi.com/shopsearch?searchword=253310
https://uavending-ricambi.com/shopsearch?searchword=251875
https://uavending-ricambi.com/shopsearch?searchword=0V2072
https://uavending-ricambi.com/shopsearch?searchword=264260


Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

MACSAE367.T.0006 TAVOLA NR. 6 - ARTICOLO КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Web Pos. Item Replace by Description

Page 11 out of 22



Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Нажмите - Ctrl + правая кнопка мыши что бы открыть запчасть в новом окне
Press - CTRL + CLICK go to item in a new window  

1 NV99.050 HOSECLAMP D. 13.3/14.1
2 229366300 9972.246 SILICONE TUBE 5X10 L.155MM
3 260795 24V+PCB MOTOBLENDER
4 260794 MOTOBLENDER SUPPORT
6 264281 BICONICAL FITTING 8-12/14-16
7 39706401 SOLENOID VALVE COUPLING MIXER7100
8 39726000 FITTING HOT WATER ES 7100
9 39740200 MIXER SOLENOID GASKET 7100
10 39719300 MIXER FUNNEL COVER
11 264288 &-180° MIXER FUNNEL
13 1813.109.050 NOZZLES
14 256074 MIXER RING NUT
15 261256 SEAL 31.42X2.62
16 260792 MOTOBLENDER BUSHING
17 0V0775 O-RING 106
18 097917 BUSH SEAL -EXCLUSIVE-
19 260109 SHAFT MIXER FAN 4MM

Page 12 out of 22

''
https://uavending-ricambi.com/shopsearch?searchword=NV99.050
https://uavending-ricambi.com/shopsearch?searchword=229366300
https://uavending-ricambi.com/shopsearch?searchword=260795
https://uavending-ricambi.com/shopsearch?searchword=260794
https://uavending-ricambi.com/shopsearch?searchword=264281
https://uavending-ricambi.com/shopsearch?searchword=39706401
https://uavending-ricambi.com/shopsearch?searchword=39726000
https://uavending-ricambi.com/shopsearch?searchword=39740200
https://uavending-ricambi.com/shopsearch?searchword=39719300
https://uavending-ricambi.com/shopsearch?searchword=264288
https://uavending-ricambi.com/shopsearch?searchword=1813.109.050
https://uavending-ricambi.com/shopsearch?searchword=256074
https://uavending-ricambi.com/shopsearch?searchword=261256
https://uavending-ricambi.com/shopsearch?searchword=260792
https://uavending-ricambi.com/shopsearch?searchword=0V0775
https://uavending-ricambi.com/shopsearch?searchword=097917
https://uavending-ricambi.com/shopsearch?searchword=260109


Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

MACSAE367.T.0007 TAVOLA NR. 7 - ARTICOLO КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Web Pos. Item Replace by Description

Page 13 out of 22



Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Нажмите - Ctrl + правая кнопка мыши что бы открыть запчасть в новом окне
Press - CTRL + CLICK go to item in a new window  

1 11029574 KNURLED FEMALE HAND BOLT M14
2 11029571 BUSH
3 12001810 OR 275 DE.8,04 SILICONE PERNOMANICOTTO
4 U302.003 GALV.NUT HEXAGONAL M4 UNI 5589ZN
5 11005370 PIN FOR MUFF
6 11013174 OR ORM 0050-20 FKM 80 FD GREENPEROXIDA
7 U044.013 SCREW TSPC M4,0X12 UNI 7688 GALV.
8 189428700 THERMOSTAT 175° 1NT-15L-5126
9 9991.085 THERMOSTAT FIXING WASHER
10 9991.029 NUT FOR RESISTOR
11 NE09.021 THERMOSTAT 150°NC FASTON 90°
12 11033131 UPPER CASING BOILER 300CC TEA
13 11033220 OR ORM 2043 FKM 80 FD GREEN PEROXIDA
14 11033134 IMMERSION PROBE
15 11000972 OR 3050 FKM 80 FD PEROXIDICA
16 11007591 RES CALD. V230 W1400 INC.800
17 NM04.010 OR ORM 0730-40 FPM 70+-5 IRHDBLACK
18 11033133 LOWER CASING BOILER 300CC TEA
19 9991.059 STRAIGHT BICONE CONNECTOR M 1/8X06
20 U109.037 SCREW AUT.TCB 4,8X13 DIN 7981C
21 140321462 O-RING 2018 SILICONE
22 11013173 OR ORM 0090-20 FKM 80 FD GREENPEROXIDA
23 12001052 SCREW TCEI M4,0X6 DIN 912 ZIN
24 226830200 RETAIN.SPRING 3 THERM. +THERMAL FUSE
25 U023.020 SCREW TCEI M6X20 UNI 5931 ZIN
26 NE15.031 MALE TONGUE PLAIN 6,3 D.6,3
27 U204.001 ELAS. WASHER 6,4X11,4 UNI 1751ZIN
28 11031852 CONNECTOR 1/8 GAS M/F TEA CAPS
29 11011454 "T" CONNECTOR FOR BOILER TEAT"" CONNECTOR FOR BOILER

TEA
30 11032924 EV.2VIE-24VDC-7W-F/F1/8"-D.1,2-18BAR-TEA
31 0871.141 MALE RUBBER HOLDER CYL. D.9
32 20007362 SPARE CORE EV ODE
33 20007363 SPARE EVT ODE
34 20007364 SPARE EVT 11032408
35 20007361 SOLENOID EVT ODE
36 11035346 SLEEVE+CORE FIXED OLAB 6056/801
37 11035345 CORE+BOTTOM+SPRING OLAB 6056/901
38 11035344 EV 2VIE INOX TEA OLAB K06056-EG
39 11035343 COIL H 24VDC 7W ED100% OLAB 6000BH/B0CN
40 11030779 COFFEE BOILER 600CC UPPER ISOLATOR
41 9181.348 TEA/BRASS CONNECTOR 1/8" CONICAL AT 90°
42 11032408 ELECTROVALVE ODE 3 WAYS 24V DC
43 11030777 COFFEE BOILER 600CC UPPER ISOLATOR
44 11034182 BOILER 300CC 230V JEEG
45 11034274 TUBE TEFLON 4X2 L.130
46 140328059 OR 2015 SILICONE PTFE/FDA
47 9011.144 SS FORK FOR TUBE D=4
48 1813.046.050 RUBBER GRIND SUPPORT

Page 14 out of 22

''
https://uavending-ricambi.com/shopsearch?searchword=11029574
https://uavending-ricambi.com/shopsearch?searchword=11029571
https://uavending-ricambi.com/shopsearch?searchword=12001810
https://uavending-ricambi.com/shopsearch?searchword=U302.003
https://uavending-ricambi.com/shopsearch?searchword=11005370
https://uavending-ricambi.com/shopsearch?searchword=11013174
https://uavending-ricambi.com/shopsearch?searchword=U044.013
https://uavending-ricambi.com/shopsearch?searchword=189428700
https://uavending-ricambi.com/shopsearch?searchword=9991.085
https://uavending-ricambi.com/shopsearch?searchword=9991.029
https://uavending-ricambi.com/shopsearch?searchword=NE09.021
https://uavending-ricambi.com/shopsearch?searchword=11033131
https://uavending-ricambi.com/shopsearch?searchword=11033220
https://uavending-ricambi.com/shopsearch?searchword=11033134
https://uavending-ricambi.com/shopsearch?searchword=11000972
https://uavending-ricambi.com/shopsearch?searchword=11007591
https://uavending-ricambi.com/shopsearch?searchword=NM04.010
https://uavending-ricambi.com/shopsearch?searchword=11033133
https://uavending-ricambi.com/shopsearch?searchword=9991.059
https://uavending-ricambi.com/shopsearch?searchword=U109.037
https://uavending-ricambi.com/shopsearch?searchword=140321462
https://uavending-ricambi.com/shopsearch?searchword=11013173
https://uavending-ricambi.com/shopsearch?searchword=12001052
https://uavending-ricambi.com/shopsearch?searchword=226830200
https://uavending-ricambi.com/shopsearch?searchword=U023.020
https://uavending-ricambi.com/shopsearch?searchword=NE15.031
https://uavending-ricambi.com/shopsearch?searchword=U204.001
https://uavending-ricambi.com/shopsearch?searchword=11031852
https://uavending-ricambi.com/shopsearch?searchword=11011454
https://uavending-ricambi.com/shopsearch?searchword=11032924
https://uavending-ricambi.com/shopsearch?searchword=0871.141
https://uavending-ricambi.com/shopsearch?searchword=20007362
https://uavending-ricambi.com/shopsearch?searchword=20007363
https://uavending-ricambi.com/shopsearch?searchword=20007364
https://uavending-ricambi.com/shopsearch?searchword=20007361
https://uavending-ricambi.com/shopsearch?searchword=11035346
https://uavending-ricambi.com/shopsearch?searchword=11035345
https://uavending-ricambi.com/shopsearch?searchword=11035344
https://uavending-ricambi.com/shopsearch?searchword=11035343
https://uavending-ricambi.com/shopsearch?searchword=11030779
https://uavending-ricambi.com/shopsearch?searchword=9181.348
https://uavending-ricambi.com/shopsearch?searchword=11032408
https://uavending-ricambi.com/shopsearch?searchword=11030777
https://uavending-ricambi.com/shopsearch?searchword=11034182
https://uavending-ricambi.com/shopsearch?searchword=11034274
https://uavending-ricambi.com/shopsearch?searchword=140328059
https://uavending-ricambi.com/shopsearch?searchword=9011.144
https://uavending-ricambi.com/shopsearch?searchword=1813.046.050


Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

49 12002052 ZN-B TCB SCREW M4X16
50 U203.001 PLAIN WASHER 4,3X8 UNI 1749 GAL
51 9141.003 SPACER FOR RUBBER
52 9991.005 RUBBER FOR COFFEE GRINDER
53 11009741 ASS.MOTOR FOR COFFEE GRIND 220/230V 5P07
54 0701.R34 MOTOR BRUSH
55 U043.023 SCREW TCBC M3,0X18 UNI 7687 GALV.
56 U208.002 TOOTHED WASHER 3,3X5,8 UNI 3703 G
57 11032110 BUSH
58 11027723 RING NUT OF GRIND REGULATION
59 1813.045.A20 GRIND SUPPORT
60 U701.011 STEEL SNAP RING 5 UNI 7434
61 1813.097.A20 SPACER
62 11025660 SEAL HOPPER GROUND COFF.DOSERVENDING
63 9141.008 KNOB ADJUSTMENT SCREW
64 140321560 O-RING 3187 NBR
65 126520119 GRINDER FOR MOTOR TYPE BATTISTINI
66 9141.001 BRASS NCREMENT SCREW MC
67 U043.007 SCREW TCBC M3,0X8 UNI 7687 GALV.
68 9141.007 FAN
69 9140.002.00A MOTOR ASS.WITH CAP 230V
70 1813.159 ANTIVIBRATION RUBBER
71 1813.104.A20 ADJUSTMENT SCREW WITH TUBE HOLDER
72 U044.022 SCREW TSPC M5,0X8 UNI 7688 GALV.
73 11034388 COFFEE GRIND JEEG
74 264291 UNIFIED 230V GEARMOTOR ASSEMBLY
75 U110.004 SCREW AUT.TCB 3,5X6,5 DIN 7981F
76 11034030 DOSER ASS. 6-11 GR.NEW
77 12002151 TSP SCREW M3X4 UNI 7688 SS
78 1813.042.A20 DISPENSER PALLET
79 9121.235.00A ELECTROMAGNET FOR DISPENSER WITH NUCLEUS
80 11033266 DISPENSER SHELL
81 1813.092 PIN
82 1813.091 PIN FOR DISPENSER REGOLATION
83 1813.043.A20 DISPENSER REGOLATION
84 1813.078.A20 ADJUSTMENT LEVER
85 1813.044.A20 PALLET FOR REGOLATION
86 NE15.003 MALE TONGUE PLAIN 6,3 D.5,2
87 11035504 RATIOMOTOR CAM COFFEE GROUP
88 129821402 TCB SCREW M3X4 UNI 7687 ZNP
89 1813.127 SPRING FOR ELECTROMAGNET
90 NE05.062 MICROSWITCH + WHEEL
91 U116.004 SCREW AUT.PT TCB 3,0X16 WN 1441
92 12000390 SCREW AUT.TCB 2,9X25 DIN 7981C NIK
93 1813.191.A20 DISPENSER COVER
94 11033265 OUTSIDE SHELL DISPENSER
95 129825502 TCB SCREW M4X25 UNI 7687 ZNP
96 129824002 TCB SCREW M4X10 UNI 7687 ZNP
97 128310404 WASHER UNI 8842 A4 BURNISHED
98 U302.002 NUT HEXAGONAL M3 UNI 5588
99 U205.004 CURVED WASHER 4,3X8 UNI 8840AB

Page 15 out of 22

https://uavending-ricambi.com/shopsearch?searchword=12002052
https://uavending-ricambi.com/shopsearch?searchword=U203.001
https://uavending-ricambi.com/shopsearch?searchword=9141.003
https://uavending-ricambi.com/shopsearch?searchword=9991.005
https://uavending-ricambi.com/shopsearch?searchword=11009741
https://uavending-ricambi.com/shopsearch?searchword=0701.R34
https://uavending-ricambi.com/shopsearch?searchword=U043.023
https://uavending-ricambi.com/shopsearch?searchword=U208.002
https://uavending-ricambi.com/shopsearch?searchword=11032110
https://uavending-ricambi.com/shopsearch?searchword=11027723
https://uavending-ricambi.com/shopsearch?searchword=1813.045.A20
https://uavending-ricambi.com/shopsearch?searchword=U701.011
https://uavending-ricambi.com/shopsearch?searchword=1813.097.A20
https://uavending-ricambi.com/shopsearch?searchword=11025660
https://uavending-ricambi.com/shopsearch?searchword=9141.008
https://uavending-ricambi.com/shopsearch?searchword=140321560
https://uavending-ricambi.com/shopsearch?searchword=126520119
https://uavending-ricambi.com/shopsearch?searchword=9141.001
https://uavending-ricambi.com/shopsearch?searchword=U043.007
https://uavending-ricambi.com/shopsearch?searchword=9141.007
https://uavending-ricambi.com/shopsearch?searchword=9140.002.00A
https://uavending-ricambi.com/shopsearch?searchword=1813.159
https://uavending-ricambi.com/shopsearch?searchword=1813.104.A20
https://uavending-ricambi.com/shopsearch?searchword=U044.022
https://uavending-ricambi.com/shopsearch?searchword=11034388
https://uavending-ricambi.com/shopsearch?searchword=264291
https://uavending-ricambi.com/shopsearch?searchword=U110.004
https://uavending-ricambi.com/shopsearch?searchword=11034030
https://uavending-ricambi.com/shopsearch?searchword=12002151
https://uavending-ricambi.com/shopsearch?searchword=1813.042.A20
https://uavending-ricambi.com/shopsearch?searchword=9121.235.00A
https://uavending-ricambi.com/shopsearch?searchword=11033266
https://uavending-ricambi.com/shopsearch?searchword=1813.092
https://uavending-ricambi.com/shopsearch?searchword=1813.091
https://uavending-ricambi.com/shopsearch?searchword=1813.043.A20
https://uavending-ricambi.com/shopsearch?searchword=1813.078.A20
https://uavending-ricambi.com/shopsearch?searchword=1813.044.A20
https://uavending-ricambi.com/shopsearch?searchword=NE15.003
https://uavending-ricambi.com/shopsearch?searchword=11035504
https://uavending-ricambi.com/shopsearch?searchword=129821402
https://uavending-ricambi.com/shopsearch?searchword=1813.127
https://uavending-ricambi.com/shopsearch?searchword=NE05.062
https://uavending-ricambi.com/shopsearch?searchword=U116.004
https://uavending-ricambi.com/shopsearch?searchword=12000390
https://uavending-ricambi.com/shopsearch?searchword=1813.191.A20
https://uavending-ricambi.com/shopsearch?searchword=11033265
https://uavending-ricambi.com/shopsearch?searchword=129825502
https://uavending-ricambi.com/shopsearch?searchword=129824002
https://uavending-ricambi.com/shopsearch?searchword=128310404
https://uavending-ricambi.com/shopsearch?searchword=U302.002
https://uavending-ricambi.com/shopsearch?searchword=U205.004


Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

100 11035557 RATIOMOTOR 30 PLAST.P.F. 230/240-50
101 11034255 CENTRAL UNIT MOTOR STEEL CARTER BLK
102 NE05.066 MICROSWITCH CHERRY D419Q1A
103 129511903 SCREW TCB 2,9X6,4 DIN 7981 BZNICK
104 11035503 SUPPORT MICRO RATIOMOTOR
105 U043.023 SCREW TCBC M3,0X18 UNI 7687 GALV.
106 9991.013 11000103 JOINT FOR RATIOMOTOR
107 12002039 SCREW TCBD TORX 20 M4X12 ZN-B

Page 16 out of 22

https://uavending-ricambi.com/shopsearch?searchword=11035557
https://uavending-ricambi.com/shopsearch?searchword=11034255
https://uavending-ricambi.com/shopsearch?searchword=NE05.066
https://uavending-ricambi.com/shopsearch?searchword=129511903
https://uavending-ricambi.com/shopsearch?searchword=11035503
https://uavending-ricambi.com/shopsearch?searchword=U043.023
https://uavending-ricambi.com/shopsearch?searchword=9991.013
https://uavending-ricambi.com/shopsearch?searchword=12002039


Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

MACSAE367.T.0008 TAVOLA NR. 8 - ARTICOLO КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Web Pos. Item Replace by Description

Page 17 out of 22



Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Нажмите - Ctrl + правая кнопка мыши что бы открыть запчасть в новом окне
Press - CTRL + CLICK go to item in a new window  

1 264273 DOOR WIRING
2 11033318 POWER PHEDRA EVO
3 9111.402 SPACER FOR CARD
4 NE01.050 CABLE SCHUKO WITH PLUG EN60320C1
5 NE01.093 CABLE ARGENTINA + PLUG EN60320C13
6 17800019 BLACK POWER CABLE BRAZIL L=1200
6 NE01.051 CABLE SWITZERLAND WITH PLUG EN603
7 11034151 FIXING PLATE FOR POWER SUPPLYJEEG
8 NE03.038 BIPOLAR SWITCH FUSIT C1250AR
9 187850400 TRIPOLE SOCKET SELF-LOCKING
10 U110.004 SCREW AUT.TCB 3,5X6,5 DIN 7981F
11 12002120 SWITCHING DELTA PMT-24V-150W-1A
12 U110.010 129511903 SCREW AUT.TCB 2,9X6,5 DIN 7981F
13 11007792 DISPLAY GLASS 5P07
14 12002070 DISPLAY 2,4"
15 U110.004 SCREW AUT.TCB 3,5X6,5 DIN 7981F
16 11009350 14 POLES FLAT CABLE KEYBOARD/CPU
17 11008194 MECH.KEYBOARD DA5P-2007
18 11009487 FLAT CABLE 24 POLES DISPLAY
19 264271 IPER CPU + SW ASSEMBLY
20 264269 ACTUATOR BUTTON

Page 18 out of 22

''
https://uavending-ricambi.com/shopsearch?searchword=264273
https://uavending-ricambi.com/shopsearch?searchword=11033318
https://uavending-ricambi.com/shopsearch?searchword=9111.402
https://uavending-ricambi.com/shopsearch?searchword=NE01.050
https://uavending-ricambi.com/shopsearch?searchword=NE01.093
https://uavending-ricambi.com/shopsearch?searchword=17800019
https://uavending-ricambi.com/shopsearch?searchword=NE01.051
https://uavending-ricambi.com/shopsearch?searchword=11034151
https://uavending-ricambi.com/shopsearch?searchword=NE03.038
https://uavending-ricambi.com/shopsearch?searchword=187850400
https://uavending-ricambi.com/shopsearch?searchword=U110.004
https://uavending-ricambi.com/shopsearch?searchword=12002120
https://uavending-ricambi.com/shopsearch?searchword=U110.010
https://uavending-ricambi.com/shopsearch?searchword=11007792
https://uavending-ricambi.com/shopsearch?searchword=12002070
https://uavending-ricambi.com/shopsearch?searchword=U110.004
https://uavending-ricambi.com/shopsearch?searchword=11009350
https://uavending-ricambi.com/shopsearch?searchword=11008194
https://uavending-ricambi.com/shopsearch?searchword=11009487
https://uavending-ricambi.com/shopsearch?searchword=264271
https://uavending-ricambi.com/shopsearch?searchword=264269


Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

MACSAE367.T.0009 TAVOLA NR. 9 - ARTICOLO КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Web Pos. Item Replace by Description

Page 19 out of 22



Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Нажмите - Ctrl + правая кнопка мыши что бы открыть запчасть в новом окне
Press - CTRL + CLICK go to item in a new window  

1 9169.A14.060 PIN FOR PERCOLATOR BROWN
2 NM02.006 OR R5 TERMOIL
3 140322061 O-RING 4112 EPDM
4 324000100 SS PERCOLATOR D=34 SCREW FOR UNIT
5 11005371 UNIT COFFEE MUFF
6 11010013 CARTER FOR MUFF PREHEATING UNIT
7 129512921 SCREW TCB TORX 10 AB 2,9X13 SHEET SS
8 9111.537.060 BROWN SCRAPER COFFEE GROUP
9 9111.520 SPRING FOR SCRAPER SECTION 0.6
10 U701.006 SNAP RING 3,2 UNI 7434
11 9111.539.060 FORK FOR SCRAPER
12 9110.067.060 SCRAPER ASS.FOR CAPPUCCINAT. TUBE
13 U110.013 SCREW AUT.TCB 3,9X6,5 DIN 7981F
14 140321462 O-RING 2018 SILICONE
15 9972.057 SILICONE TUBE 5X8 L.2000MM
16 1813.109.050 NOZZLES
17 322001201 MOBILE SCRAPER BROWN NARROW
18 9161.425 SPRING FOR SCRAPER
19 129851921 TSP SCREW M3X6 UNI 7688 SS
20 324000200 SS PERCOLATOR D=34 FOR UNIT
21 222711101 BROWN GROUND COFF.CONTAINER D=36 ASSY.
22 9161.021.060 KEY FOR BREW UNIT BROWN
23 11023330 BREW UNIT 7 GRAMS
24 11013053 CARTER FOR DOSER UNIT
25 11012630 PERCOLATOR D.34
26 129852821 TSP SCREW M3X14 UNI 7688 SS
27 9161.020.060 PLATE FOR COFFEE UNIT BROWN

Page 20 out of 22

''
https://uavending-ricambi.com/shopsearch?searchword=9169.A14.060
https://uavending-ricambi.com/shopsearch?searchword=NM02.006
https://uavending-ricambi.com/shopsearch?searchword=140322061
https://uavending-ricambi.com/shopsearch?searchword=324000100
https://uavending-ricambi.com/shopsearch?searchword=11005371
https://uavending-ricambi.com/shopsearch?searchword=11010013
https://uavending-ricambi.com/shopsearch?searchword=129512921
https://uavending-ricambi.com/shopsearch?searchword=9111.537.060
https://uavending-ricambi.com/shopsearch?searchword=9111.520
https://uavending-ricambi.com/shopsearch?searchword=U701.006
https://uavending-ricambi.com/shopsearch?searchword=9111.539.060
https://uavending-ricambi.com/shopsearch?searchword=9110.067.060
https://uavending-ricambi.com/shopsearch?searchword=U110.013
https://uavending-ricambi.com/shopsearch?searchword=140321462
https://uavending-ricambi.com/shopsearch?searchword=9972.057
https://uavending-ricambi.com/shopsearch?searchword=1813.109.050
https://uavending-ricambi.com/shopsearch?searchword=322001201
https://uavending-ricambi.com/shopsearch?searchword=9161.425
https://uavending-ricambi.com/shopsearch?searchword=129851921
https://uavending-ricambi.com/shopsearch?searchword=324000200
https://uavending-ricambi.com/shopsearch?searchword=222711101
https://uavending-ricambi.com/shopsearch?searchword=9161.021.060
https://uavending-ricambi.com/shopsearch?searchword=11023330
https://uavending-ricambi.com/shopsearch?searchword=11013053
https://uavending-ricambi.com/shopsearch?searchword=11012630
https://uavending-ricambi.com/shopsearch?searchword=129852821
https://uavending-ricambi.com/shopsearch?searchword=9161.020.060


Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

MACSAE367.T.0010 TAVOLA NR. 10 - ARTICOLO КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Web Pos. Item Replace by Description

Page 21 out of 22



Model Machine

MACSAE367 КАВОВИЙ АПАРАТ OCS SAE IPER PREMIUM 9G 1C1M 230/50

Нажмите - Ctrl + правая кнопка мыши что бы открыть запчасть в новом окне
Press - CTRL + CLICK go to item in a new window  

1 9169.A14.150 PIN FOR PERCOLATOR GREY
2 NM02.006 OR R5 TERMOIL
3 NM01.044 OR ORM 0320-40 SILICONE PTFE/FDA
4 9161.036 UPPER PERCOLATOR FOR UNIT
5 129512921 SCREW TCB TORX 10 AB 2,9X13 SHEET SS
6 11010013 CARTER FOR MUFF PREHEATING UNIT
7 11005371 UNIT COFFEE MUFF
8 9111.537.150 GREY SCRAPER COFFEE GROUP
9 9111.520 SPRING FOR SCRAPER SECTION 0.6
10 U701.006 SNAP RING 3,2 UNI 7434
11 9111.539.150 FORK FOR SCRAPER
12 9110.067.150 SCRAPER ASS.FOR CAPPUCCINAT. TUBE
13 U110.013 SCREW AUT.TCB 3,9X6,5 DIN 7981F
14 140321462 O-RING 2018 SILICONE
15 9972.057 SILICONE TUBE 5X8 L.2000MM
16 1813.109.050 NOZZLES
17 322001259 MOBILE SCRAPER GREY NARROW
18 9161.425 SPRING FOR SCRAPER
19 129851921 TSP SCREW M3X6 UNI 7688 SS
20 9161.037 LOWER PERCOLATOR FOR UNIT
21 11002626 ASS. COFFEE CONTAINER GREY 9 GR.
22 9161.021.060 KEY FOR BREW UNIT BROWN
23 11005422 BREW UNIT 9 GRAMS
24 11013053 CARTER FOR DOSER UNIT
25 9161.020.060 PLATE FOR COFFEE UNIT BROWN

Page 22 out of 22

''
https://uavending-ricambi.com/shopsearch?searchword=9169.A14.150
https://uavending-ricambi.com/shopsearch?searchword=NM02.006
https://uavending-ricambi.com/shopsearch?searchword=NM01.044
https://uavending-ricambi.com/shopsearch?searchword=9161.036
https://uavending-ricambi.com/shopsearch?searchword=129512921
https://uavending-ricambi.com/shopsearch?searchword=11010013
https://uavending-ricambi.com/shopsearch?searchword=11005371
https://uavending-ricambi.com/shopsearch?searchword=9111.537.150
https://uavending-ricambi.com/shopsearch?searchword=9111.520
https://uavending-ricambi.com/shopsearch?searchword=U701.006
https://uavending-ricambi.com/shopsearch?searchword=9111.539.150
https://uavending-ricambi.com/shopsearch?searchword=9110.067.150
https://uavending-ricambi.com/shopsearch?searchword=U110.013
https://uavending-ricambi.com/shopsearch?searchword=140321462
https://uavending-ricambi.com/shopsearch?searchword=9972.057
https://uavending-ricambi.com/shopsearch?searchword=1813.109.050
https://uavending-ricambi.com/shopsearch?searchword=322001259
https://uavending-ricambi.com/shopsearch?searchword=9161.425
https://uavending-ricambi.com/shopsearch?searchword=129851921
https://uavending-ricambi.com/shopsearch?searchword=9161.037
https://uavending-ricambi.com/shopsearch?searchword=11002626
https://uavending-ricambi.com/shopsearch?searchword=9161.021.060
https://uavending-ricambi.com/shopsearch?searchword=11005422
https://uavending-ricambi.com/shopsearch?searchword=11013053
https://uavending-ricambi.com/shopsearch?searchword=9161.020.060

